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1. The value of cos 0°. cos 1°. cos 2°. cos 3°... cos 89° cos 90° is

(a) 1 (b) -1 (©)0 (d) 1/V2
2. If x tan 45° sin 30° = cos 30° tan 30°, then x is equal to
(a) V3 (b) 12 ©1/V2 ()1

3.If x and y are complementary angles, then
(a) sinx =siny (b)tanx=tany (c)Jcosx=cosy (d)secx=cosecy

4. sin 2B = 2 sin B is true when B is equal to

(a) 90° (b) 60° (c) 30° (d) 0°
5.1f A, B and C are interior angles of a AABC then cos(B+C2) is equal to
A A
a) sin = -
(a) > (b) - sin 5
A
(c) cos > (d) - cos %

6.If A and (2A - 45°) are acute angles such that sin A = cos (2A - 45°), then tan A is equal to

(a) 0 (b) 1/4/3 ()1 (d) V3
7.1f y sin 45° cos 45° = tan2 45° - cos?230° theny = ...

(a)-1/2 (b) 2 (c)-2 (d) 2
8.1f sin O + sin” @ = 1, then cos® 0 + cos* 0 = ..

(a) -1 (b)O ()1 (d) 2
9.5tan* A - 5sec* A + 1is equal to

(@A) 6 (b)-5 (01 (d) -4

10.Ifsec A + tan A = x, then sec A =

(a} ﬂ [b_] x2 1
x 2

x2 +1 xZ 41
(<) x () 2

11.If secA +tan A=x,thentan A =

x2 -1 x2 -1
(a) p (b) o
x2+1




